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5 IEE< L 2RpERFIFE 5
i g £ G | F=w | E=wm | g | IMP K % | A~
Ff 55, %ﬁ e | Lo | s | s IMP | IMP | IMP | IMP | & | A4 | B4 |(MP)
IMP IMP IMP | # ¢ :f;;k prl FE 2] MP MP bt 2,
1 TR SO f116 [ On 119 [ 20 o4 |21 11.20 ] 26 1539.0 |51.3%]| 27
1 =5kkE | S0 1116 | O | 19 [ 20 J 04 [ 21 J1.20 | 26 1539.0 |51.3%]| 27
1 e | so 1125 | o |55 [ 8 11 [ 10 J1.79 ] 10 |572.0 |54.5%] 10
1 sk 1 so 125 | o | ss [ 8 11 [ 10 [ 179 ] 10 |572.0 |54.5%] 10
2 wEm | 40 | 84 | 66 | 18 [ 22 105 [ 20 |1.27 | 20 ]424.0 150.5%] 36
2 Y JYIE 20 | 3 | @D ] 26 1.3 1.96 222.0 |52.9%
2 =t 20 1 53 1 @D | 26 1.3 1.96 222.0 |52.9%
2 s |50 196 | 3 | 14 [27 103 [ 29 |1.17 | 29 |518.5 149.4%)| 44
2 2t | 40 1 74 1 @8 ] 6 135 102 |35 1109 [ 33 420.0 [50.0%| 37
2 S f 30 1 62 | 52 110 [ 29 103 |28 |1.19 ] 28 |325.5]51.7%]| 25
3 T 40 1 82 | @D 115 123 104 |23 |1.22 |21 |447.5 [53.3%] 19
3 B 30 1 65 | 83 1 a®) [ 49 106 ] 53 1078 | 49 |284.0 145.1%]| 62
3 SEERRD 40 1 82 | @D 115 123 104 |23 |1.22 [ 21 |447.5 [53.3%] 19
3 TR 30 1 65 | 83 1 a®) [ 49 106 ] 53 1078 | 49 |284.0 145.1%]| 62
3 HELES 30 1 82 | 39 1 43 [ 13 114 | 6 J210] 6 |347.5]552%| 8
3 v 30 1 82 | 39 1 43 [ 13 114 | 6 J210] 6 |347.5]552%| 8
4 e 150 193 1 @) | 4 [39 101 [ 39 J1.04 |39 ]520.5[49.6%| 41
4 Bz | 40 1124 | 49 175 | 3 119 | 3 |253 [ 3 |4755 [56.6%| 5
4 Brzss | 40 1101 ] @8 133 |15 108 | 15 | 1.49 | 15 ]425.0 [50.6%] 35
4 BEE 40 178 1 a9 1 O |41 10| 41 1099 [ 42 |405.5 [48.3%] 49
4 iR 30 1 60 | D 1 an |48 6] 51 1078 | 51 2855 145.3%] 60
5 w50 1134 ] gl 64 | 6 113 | 8 191 | 8 |579.5(552%| 6
5 FiEE 50 1 92 [a1n] o |52 Joa] 48 10.82 | 48 |508.5 [48.4%]| 46
5 iEselal 30 L 44 | 79 13D [s6 Jao] 61 1059 | 61 |278.0 |44.1%| 66
5 SieE | 5o 134 ] g0l 64 | 6 113 [ 8 191 ] 8 ]579.5(552%| 6
5 W EIE 20 | 48 | 31 ] 11 0.6 1.30 230.5 |54.9%
6 sl | 50 | 84 | (1259 ) @b |60 10859 1067 | 59 |497.5 [47.4%] 52
6 gz | so | 84 | a2l dh 60 o8] 59 1067 |5 14975 147.4%)| 52
6 PR SO 71 [y l64 o] 62 1058 | 62 14785 145.6%| 58
6 T SOl 71 [y l64 o] 62 1058 | 62 1478.5 145.6%| 58
7 SIEFN 50 J116 [aoe) ) 10 129 02 |31 11.09 ] 31 |556.5153.0%| 21
7 SprEl | S0 116 | 106) ] 10 [ 29 1 02 [ 31 J1.09 | 31 ]556.5[53.0%] 21
7 =AE | so L1210 | a2 ] 9 [32 02 [33 J1.08 ] 34 |508.5 |48.4%]| 46
7 e S0 f121 a1 9 [32 102 ]33 ]1.08 [ 34 |508.5 [48.4%]| 46
8 PETHE 30 1 58 | 09 L ab |45 J4 | 47 10.84 | 47 1322.0 |51.1%]| 32
8 PR 1012 | a3 0.3 1.16 113.0 [53.8%
8 KEzE 40 1 13 1 06 | @) [53 6] 52 1076 | 52 14025 147.9%] 50
8 Spigm | S0 1 86 | (1221 36) [ 59 1. 58 10.70 | 58 ]502.0 [47.8%] 51
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5 IEE< L 2RpERFIFE 5
h g £ a lE=wmlEw | g | NP K % | A~
I 5L %ﬁ e | Lo | s | s IMP | IMP | IMP | IMP | & | A4 | B4 |(MP)
IMP IMP IMP | 27 | Fpe | #6 | sk || MP MP bt 7,
8 S 30 | 57 | D 40 40 11.00 | 40 |326.5 [51.8%]| 24
8 ZRhE 40 184 1 @Dl @ 143 1] 43 1097 [ 43 |431.0 [51.3%] 29
9 e | 5o 1144 | @9 195 [ 1 119 [ 1 294 ] 1 16365160.6%| 1
9 2Kk S0 1144 | @9 195 [ 1 119 [ 1 294 ] 1 16365160.6%]| 1
9 AR SO0 1134 | 6 | 72 | 4 114 [ 4 1216 4 16160 ]58.7%| 3
9 HFERE L so |34 | 6| 72 [ 4 114 ] 4 1216] 4 16160 ]58.7%| 3
10 AgES | 40 1 20 | a7 lasnl 70 138 70 J0.12 | 70 ]281.5 [33.5%]| 71
10 s | 40 | 57 14Dl 00 | 67 1 @3] 67 1039 [ 67 |316.0 [37.6%| 67
10 gicE | 40 | 33 | a6 a3y es 133 68 1020 | 68 1303.5 [36.1%]| 68
10 s | 40 | 4 a0 Jase)| 71 139 71 10.03 [ 71 ]288.0 [34.3%| 69
10 BT 1 40 1 20 [ asnlasn]ed 1e4] 69 1013 ] 69 |284.0 133.8%] 70
11 H{E{E 20 | 55 | @3 ] 32 1.6 2.39 249.0 |59.3%
11 sEEE | 40 1 63 | a6 Jan] 64 1057 | 64 1373.0 |44.4%| 64
11 BEZR | 40 | 63 Al )us) | 62 a2 64 1057 | 64 1373.0 [44.4%] 64
11 ST 20 | 55 | @3 ] 32 1.6 2.39 249.0 |59.3%
11 EFE L 40 1 78 | OO | a2 | 46 103 | 45 1087 | 45 ]427.0 [50.8%] 33
11 pETE ] 40 1 78 1 90 1 a2 | 46 1©0.3) ] 45 087 | 45 ]427.0 [50.8%] 33
12 prEdEE | 50 |1 80 | (108) ] 28) | 54 0.6 ] 49 074 | 53 |485.0 [46.2%| 56
12 L 50 1 80 [aod) | @8 | 54 J.6)] 49 10.74 | 53 |485.0 [46.2%] 56
12 EE | S0 1120 | @) | 31 [ 16 o6 | 18 | 135 | 17 |567.5 [54.0%] 13
12 ST | 50 1120 | @) | 31 [ 16 06 | 18 J1.35 | 17 |567.5 [54.0%] 13
13 BirgE | 5o 191 | 89 | 6 [35 01 |36 |1.07 ] 36 |5115 |48.7%]| 45
13 el 20 1 28 | 3o | @ 0.1 0.93 200.5 |47.7%
13 s | 40 | 84 | 09 | 15 [ 23 104 [ 23 J1.22 | 23 ]429.5 |51.1%] 30
13 A |40 1 84 | 9 | 15 [ 23 J 04 [ 23 J1.22 ] 23 14295 |51.1%] 30
13 B ) 30 1 70 | @9 121 [19 07 | 16 |143 ] 16 3425 154.4%]| 12
13 e 20 135 | ‘v | (0.5) 0.80 184.5 [43.9%
14 IR 50 J125 [ @80 | 45 110 109 | 12 |1.56 | 13 |561.0 [53.4%]| 16
14 ez | 050 1125 1 @) ) 45 |10 09 |12 156 | 13 |561.0 [53.4%] 16
14 e | 50 1 80 | A1) 33|57 10|56 1071 | 56 1491.5 [46.8%| 54
14 FEiE | 50 180 | A 3357 D] 56 1071 ] 56 14915 146.8%]| 54
15 wEE | 050 115 | gD | 44 [ 12 109 [ 14 |1.62 | 12 ]562.0 [53.5%]| 15
15 #EE 40 183 | 9 | 14 [27 104 [ 27 1120 ] 25 ]1432.0 |51.4%]| 26
15 SR | 40 1100 | 75 | 25 [ 18 1 0.6 | 17 133 | 19 ]444.0 [52.9%] 23
15 MESE 40 | 55 [ a1 ¢[66 Ja5] 66 1049 | 66 13795 145.2%] 61
15 WK 30 1 3 | 72 1 ao [ st Joe) ] 55 1074 ] 55 |311.5 149.4%)| 42
16 pEEEsc | 50 1104 1 98) | 6 135 101 |36 |1.06 [ 37 |522.0[49.7%] 38
16 B | 50 1104 ] 98) ] 6 135 101 |36 |1.06 [ 37 |522.0[49.7%] 38
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P BE * R e |on | zms |zms| e | MP [ iMP | IMP | s | B2 | B2 |(MP)
P | P | avp | | g e 2| M | W |2

16 BBOR 30 57 (62) 5) [ 44 1021 44 1092 | 44 J311.5 {49.4%]| 42
16 MR 30 | 64 (56) | 8 34 103 130 11.14 [ 30 ]336.0]53.3%| 18
16 PREEHE 40 | 85 B6) | (D) |41 10 [ 41 1099 | 41 |416.5 [49.6%] 40




